TH28EE F66HEMESHRHTAKKBEASR B+
2016598 18H EWMEERLKKE BER25m
& 7 AR BH |2 EF B |3 FEE —1E | ¢4 BHHEHKFE| 5 =ZF BN |6 TH K— | 7 EEH BH | s WH AF
50m *)Fit B1|8mIE B1KFER 22| BT E 22| BlfEE =1|kFi =2|/\EB:m =2 KFER =2
KEFH 24.31| K&k 24.99 25.34 25.81 25.90 26.51 26.80 27.26
B 7 AH B |2 BF Eth |3 ME —9E | ¢4 =B BN | 5 FHE KT | 6 H &3 | 7 FK BN | 8 T K
100m |KFI a1|BlmI% B1|RFE 22| ElfES a1|B]mI 22| BEER 22|EHREE =1|8]mI%x =1
R=H 52.94 53.39 55.88 56.80 57.53 57.54 1:01.75 1:04.30
B 7INR BE | 2 B £ |3 EHE BE | ¢4 BE K— |5 JIE K# | 6 BT BT
00m |BRES 22| BIE 22|/\BEm =2| BEER 22| BlIE =1|EERE =1
1:56.46 2:06.39 2:13.90 2:17.32 2:25.44 2:53.18
B 7MNRE BE |2 WA E |3 Hi &I} | ¢4 BB B |5 =B FH | 6 E/AREWH| 7 WH BZ | 8 WT KE
400m |BRES =2| 5K B1|8mIE =2| 5K =2|BmIE =2|/\EEE =1|/\EE5 =2|/\EEE =1
RKEH 40678 4:14.54 4:58.58 5:03.32 5:14.57 5:48.17 6:05.17 6:41.05
B 7R B |2 EE EE |3 8 B | 4 ELKEH
1500m | SEE 215K =1|/\BEm =1|/\8E5 =1
=% 16:47.06 20:25.40 22:27.16 22:55.80
(800m) 8:52.29 10:46.42 11:55.40 12:00.98
s 7 OBE BKFE |2 # OEW |3 BA #— | ¢4 ERFAER| 5 T HE | 6 BEH K| 7 BE BEKXK |8 XB #
100m |BEE 22| SmIE B1|8mI% =1 5IWE B2|kFdt =1|kFI =2|/\EB s =1|/\EBm =1
59.61 1:03.50 1:05.99 1:06.81 1:08.21 1:11.92 1:14.62 1:15.75
s 7 OBE BT |2 & OERH |3 BA #— | ¢ EBRFKER| 5 T OHEE |6 KA | 7 fH RAE
200m |BEER 22|BmIE a1|BlmI% =1|5ER 22|k Fi1 =1|/\EEm B1|XFaE =2
AS$H | 2:08.71 2:21.41 2:21.79 2:26.66 2:33.43 2:47.83 2:51.62
T 7MW ME |2 BR OE |3 HE £t | ¢4 @ EF |5 Rl ZTK |6 i @ | 7 KK BW | 8 BB M
100m |KFE B2|BmMIE 52| SHE 22| 5K 22|BmI%E =1|5lMI % =1|SEE B1|XFIE =1
1:06.79 1:09.77 1:10.44 1:10.94 1:11.89 1:14.26 1:14.74 1:17.21
T 7MW MFE |2 HEEH |3 BR OE | ¢4 @I EF |5 R K| 6 ok wE | 7 DO oF | 8 BE EX
200m | KRFE =2| 5K 22| BmIE =2| BEER 22| BlIE =1|BlmIE =1 RFEE =1|/\EB:m =1
2:23.61 2:33.03 2:33.48 2:38.75 2:43.27 2:48.03 2:55.62 2:55.85
NaIs54 | ! BF Eth | 2 —8B KN |3 BA B | ¢4 BE N |5 WH AES |6 FTH OK— |7 F EHX | 8 BE K—
i00m |BERIZ =1|kFit 22| BmIE El|XFEE B1KFE =2|kFi 22| BT E =2 | BEER =2
58.29 58.63 1:01.95 1:02.22 1:02.60 1:04.56 1:08.13 1:08.25
NaI514 | ! —B RN |2 BARIKBH |3 BE B |4 F OEH |5 =B & | 6 HE B
200m | KTt 22|BmI% a1|BHE =2|BWMIXE 22| BRI%E =2|/\EEm =2
2:08.68 2:15.56 2:50.31 2:53.09 3:03.35 3:16.76
BAARL— | 7 KB RE | 2 ¥l Wz | 3 Rk M | ¢4 B EREE | 5 HIE &} | 6 WX 2| 7 EN B
200m |KFI 22| BEE 21| BIE El|XFEE 22| EmIE =2 SR =2 |XFHE =2
2:14.82 2:19.80 2:20.93 2:35.00 2:4503 2:51.16 3:07.00
BAARL— | 7 =8 Eth | 2 XE FEKE | 3 WU 8z | 4 Rk M| 5 KK BR
400m |BIWIE a1KFL 22| BHE 21| BEER =1 | BEER =4
4:45.14 4:57.84 5:01.92 5:02.42 5:40.05
7 BERI%E |2 *Fi 3 BEHE 4 KFE 5 XF=EHE | 6 J\EES
\ = AW AH B ¥ Bz i SIE JiD BREE At i
JL— FE AT —1& KN Rk Gh e EE 2H RE {ER KRB
400m B £ KB Fih B% #%T Wl e O A BB A
= Bt HH K— He £33} mEE —i $EE At HH B
AESH 34149 3:47.53 3:47.79 3:56.50 4:21.16 4:24.50
(B—k® 57.53 55.84 57.78 59.18 1:01.79 1:07.11
7 BERI%E |2 BEER 3 *Fi
. =5 £ ihx = AHE B
JL— A 5 Bl B HE A—
800m RA #— A% %T xB #Hh
=5 B/t At 3} —1& KN
AEH  809.93| K& 81250/ K=%# 81260
(FE—kE) 1:59.22 2:00.19| K&=#1  1:55.38
7 BIWIXE | 2 BEHE 3 KFE 4 XFEE | 5 J\EES
_— B B A% #%F I sz 2 BB e B
ARL—Ub—|  =m £ WE £ WA e AF A @z
400m BEA G Bl w2 wE AT SEE A1 H #il5
FE AKTE Het £3 EHR —iF JIiD HREE HH B
K& 40221 4:09.89 4:17.36 4:40.73 5:01.60
(B—k® 1:00.67 59.75 1:11.71 1:18.72 1:19.28
E14L Fofr Ex]ivs FAML 501 F64L FIL E-:10
N BRI % BER *FI KFH I\EES *kFEE BERES BEERAAS
e RGRR 15985 15185 765 4455 4255 2355 1655 95




